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2R(111) | -9.9(-11.9)]-11.7(-10.4)| -4.2(-10.9)[ 0.0( -0.8)[-13.1(-13.4)|-12.1( -16.8)
JSELC 44) | -15.9 (-14.3)[ -13.7(-14.6)| -8.3( -7.3)| —2.6 ( -1.1)[-18.6 (~18.4)[ -13.7(-19.4)
K- (24) 8.4(-11.5) -4.2(-12.9)] 8.3(-14.3)] 6.3( -2.9)[ 0.0(-12.9) 2.1(-17.2)
AaEC2) | 96 -6.6)] 9.5( -4.4) -7.1( -8.7) 25( 4.4) -9.6( -8.7)|-16.7(-17.4)
Fpk( 22) |-18.2(-12.5)[-17.4( -4.2)[ -7.2(-15.3)| -5.3( -2.5)|-19.6 ( -8.4)[-19.6 ( -10.4)
A (31) | -12.9( -4.8)[-14.6 ( -4.8)| -3.3( -9.8)| 3.4( -2.5)[-14.5(-13.1)[-12.9(-13.1)
* BEH(14) | -17.9( -8.8)[-21.5( -8.8)|-21.5( —9.4)| -7.7( -6.3)[-28.6 (-17.7)[-17.9 (-14.7)
@[ k(8| 63C 00) -63( -6.7)] 18.8(-10.0)] 18.8( 3.3)[ 125( -6.7) 6.3(-13.4)
” A& 4)[-125(-20.0)] 125( 0.0)] 12.5(-20.0)[ 12.5C 0.0)| 0.0(-40.0)]-25.0 (-30.0)
P (5)[-30.0( 10.0)]-30.0 ( 10.0)] 0.0( 0.0)[ 0.0(-10.0)[-30.0( 10.0)]-20.0 ( 10.0)
g [ BIRB0) | -8.8(-15.2)]-105(-13.1)] 4.6(-11.4)] ~14( 0.0)]-12.5(13.5)|-11.8(-185)
1 B5EL(30) | -15.0 (-17.2)] -10.0 (-17.7)[ -1.8( -6.3)| 0.0( 1.8)|-13.8(-18.8)|-11.7(-21.9)
L | K6 | 9.4(-20.0)] -3.1(-17.5)] 3.2(-17.5)[ 0.0( -7.5)] 6.3(-17.5)| 0.0(-20.0)
"lasan] s —2)|-14.7¢ s6)[-11.8C -5.6)] 00( s56)[-10.8( 0.0)]-148(-13.9)
* BEpk(17) [ -14.7 (-18.4)-13.9( -7.9)| -9.4(-19.4)] -7.2( 0.0)[-16.7 (-13.2)| -19.5 (-15.8)
ESZEEAY st 1~3)1 sl ) PRI RBIOR R
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AR(111) | -14.3(-12.6)|-13.5(~-12.5)[ -6.8(~11.2)| -2.5( -3.3)|-17.7(~17.0)| -16.5( -20.3)
SoH( 44)  [-15.1(-12.3)-14.0 (-18.8)| -11.0 (-11.5)| -5.3( -5.6)[-21.5(-14.6)[ -15.5(-18.4)
K- (24) 0.0 (-14.3)[-12.5 (-10.0)[ 2.1(-10.0)] 4.2( 0.0)] -6.3(-21.4)] -4.2(-21.5)
AE(21) |-25.0( —4.4)[-16.7( -6.5)[ -8.3(-10.6)[ -2.5( -2.2)|-21.4(-17.4)|-26.2 ( -21.8)
FEHE( 22) |-18.2(-18.8)[-10.9(-12.5)[ -7.1(-13.1)| -5.3( -5.0)]-19.6 ( ~14.6)[ -19.6 ( -20.9)
£ (31) | -11.3( -9.6)[-14.6 ( -8.3)| -6.5( -7.4)| -1.7( -3.7)[-14.5( -7.2)[-14.5(-14.3)
* JSEL(14) | -21.5 (-11.8) -21.5 ( -20.6)[ -21.5 ( ~18.8)[ -11.6 ( -12.5)| -25.0 (  0.0)] -21.5( -11.8)
# | k(8| 18.8( -3.4) -6.3( 0.0)] 188( 3.4) 125( 6.7) 12.5(-10.0)] 12.5(-13.4)
" A ( 4)]-25.0(-10.0)[-12.5( 10.0)]-12.5(-10.0)] 0.0( 0.0)[-25.0 ( -20.0)[ -37.5 ( -30.0)
fEHk ( 5)]-20.0(-20.0)[ -10.0 (-10.0)] 0.0( 0.0)] 0.0(~-10.0)[-20.0( ~10.0)[ -20.0 ( ~10.0)
i 42U (80) | -15.4 ( —14.1)| -13.2 (-14.6)| -6.9 (-13.1)[ -2.8 ( -3.1)[-19.0 (-21.6)| -17.3 ( -23.1)
5 JSHEL(30) [-12.1(-12.5)[ -10.4 (-17.8) -5.6 ( -7.9) -2.0( -1.8)|-19.7(-22.6)|-12.5(-21.9)
L | K6 | -9.4(-225)[-15.7(-17.5)[ 6.3(-20.0)] 0.0( -5.0)] ~15.6 (-30.0)] ~12.5 (-27.5)
= A (17) [ 25.0( -2.8)|-17.7(~11.1)| -7.2(-10.7)[ -3.2( -2.8)[-20.6 ( -16.7)| -23.5( -19.4)
* Bagk (17) [ -17.7 (-18.5) -11.1 (-13.2)| -9.4(-16.7)] -7.2( -3.3)[-19.4 (-15.8)| -19.4 ( -23.7)
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